إعداد : أ . إسمهان يوسف           

    ريض  " 106  "

تمارين (4-2):  الاحتمال
                                    صـ 114 ـــ                         - 28 -
1) n =  18

    P ( A ) =  k   =   12   =   2
                   n        18         3

2) n =  3 + 5 + 4 + 1 = 13

    P ( A ) =  k   =   3   
                   n       13         

3)  ≀ P ( A ) =   k   
                         n        
          40   =     k
        100        30
      100 k  = 40 x 30

             k  =  40 x 30
                       100

             k  = 12

4) n =  3 + 4 + 6 + 1 = 14

    P ( A ) =  k   =   4    =  2
                   n       14       7

5) S = ( ( H , H , H ) , ( H , H , T ) , ( H , T , H ) , ( T , H , H ) ,                 

              ( T , T , H) , ( H , T , T ) , ( T , H , T ) , ( T , T , T ) (
تمارين (4-2):  الاحتمال

                                    صـ 114 ـــ                         - 29 -
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                                                                                    H       ( T , H , T ) 
                                                                T          
                                                                                    T        ( T , T , T )
A = ( ( H , H , T ) , ( H , T , H ) , ( T , H , H ) , ( T , T , T ) (
           K = 4      ,       n = 8
           P ( A ) =  k   =   4    =  1
                          n        8        2 
B = ( ( T , H , H ) , ( T , T , H) , ( T , H , T ) , ( T , T , T ) (
            K = 4      ,       n = 8

           P ( B ) =  k   =   4    =  1
                          n        8        2 
C = (
            K = 0      ,       n = 8

           P ( C ) =  k   =   0    =  0
                           n        8        
                 (                                                           (






